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Section 2.6 B Period / Date

Graph the rational function and answer the given questions. Show ALL asymptotes.
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Vertical asymptote: X =4, X= -|

Horizontal asymptote: 4= O
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Vertical asymptote: X = -]
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L ) ,//
End behavior asymptote: = % %+ :é; (slant » / 77" 3
x - Intercept: (0,07 (-2,0) - /
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Vertical asymptote: X =0, -2

Horizontal asymptote: \j=‘ 2

End behavior asymptote: [~/ 01N¢
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Hole: (- )'2/5>

Vertical asymptote: X = 2/
Horizontal asymptote: Lj: 0
End behavior asymptote: N one
x - Intercept: None

y - Intercept: (0, -4/ 2)

Domain: TR, X # 3/2 ;’\
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Hole: Npone

Vertical asymptote: X =2 -2
Horizontal asymptote: 5’-’ 0
End behavior asymptote: MNené
x - Intercept: (1,09

y - Intercept: (0, '/ o)
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2-2x+3

Hole: None
Vertical asymptote: X = 5

Horizontal asymptote: MNone

End behavior asymptote: L\B =X+3 (glant)

x - Intercept: Neme
y - Intercept: (0 '3/5>

Domain: 1., X# 5
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8. gx) = x+2 ( X+2)

Hole: Nove

Vertical asymptote: A= -2

Horizontal asymptote: N6 &€

End behavior asymptote: Yy=x Lox+y
(porabol <)
x - Intercept: (2 ,0)
y - Intercept: (o,-4)
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9. f)=2=%

Hole: None

Vertical asymptote: ¥ =-2

Horizontal asymptote: )67

End behavior asymptote:
%=Xﬁ—zx?+qx—\0

x - Intercept: C cuic)

y - Intercept: (0 '/2)

Domain: T X #-2
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10 f(x) = ZEHL Oaoven)
x2-2x=3 [ X~y

Hole: (- ; —’/LD

Vertical asymptote: Y= =

Horizontal asymptote: U('; )

End behavior asymptote: N one

x - Intercept: (-2,0)

y - Intercept: (,~2/=)

Domain: TR X # 3 -1

Range: (I u# |
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Hole: (2 37D

Vertical asymptote: I/ 01NE

Horizontal asymptote: None

End behavior asymptote: None

x - Intercept: None

y - Intercept: (0,)
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12, h(x) =222 (x43X-1)
(x+V)

Hole: None

Vertical asymptote: Y = |

Horizontal asymptote: N ane

End behavior asymptote: \/ =X+ (5lan+>
x - Intercept: (-3,0) (1,0)

y - Intercept: (0,- %)

Domain: "R, x # —|
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Hole: (-2.%2)

Vertical asymptote: X = 2.
Horizontal asymptote: B:’ \
End behavior asymptote: N6
x - Intercept: (1,0

y - Intercept: (O, \/7,3
Domain: W, X #72
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